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9 (a)  Summary method:   
   OM


 = 1

2 (b + c)    or b + 1
2 (−b + c)  oe B1 Can be implied 

   AM


 or MA


 attempted in terms of a, b and c               M1 May be included in working, eg AX


 = 2
3 ( 1

2 (b + c) – a) 

                               (= ±( 1
2 (b + c) – a)     oe)  Not necessarily correct 

   OX


 = a + 2
3 AM


    or OM


+ 1
3 MA


   oe   
                        attempted in terms of a, b and c               M1 Not necessarily correct 
   OX


= 1

3 (a + b + c) A1 or equivalent simplified form 
      
      
      
      





          
 

 

Question Answer Mark Guidance 
      
    [4]  
9 (b)  OF


 = a + b + c B1*  

   Hence X lies on OF, so AM and OF intersect B1dep Both statements needed. NB dep on B1 
    [2]  
10 ( )  V  lik l  i h  ill i  i h i    B1 O   "E  i h   i  i h i "  
                          
     

 
 
 

   

                                               
              
               
                     
                   
                
         
                                      

   

      
      

      
 

 
      

    
 

   
        

        

      
      
      

                  




